PAPER-II1 : STATISTICS (WeA9F-111 : ®ifga#Y)

Loy X~NI0 q: | & >0.an unbiased estimator of g
is
e X- .\'"",ﬂ:' g»0, @ o & IARAT
Hiaed F47 gam?
(A) 2

2

y

3. In which of the following sampling schemeos the

CAREER POWER

(D) !Xi

If the wholesale prices and weights are given as
follows, what would be the Wholesale Price Index
(wehy?

ofE U Heg IR aom WeTRiad B, @ o
Heg FEH® 391 g
Commodities / T&]
Prices / {&4

Weights / T3+

B C D

~3
n

60 40

02

54

04 0.25 0.15
(A) 5533
(B) 59.15

(D) 57.25

estimate of population mean is not unbiased?

faiad 7 ¥ e viRgas aoemst & |
AR ATCY §1 HEHT HATRAd J8 &7

(A) Ratio estimation for simple random sampling

WA oo sfaads & v e Jwaw

(B) Multistage sampling

ageol wfauas

“"Simplc random sampling TIF ARTCCHF
wieraas
(D) Stratified random sampling
wRa arefRes wiaaad
i IfPX=x= ~l =1,2.3,4,5,6,then P(X =1 or
X = 2)is equal l.o
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s.

6.

1HT/1IM ALUMNI COMPANY

2,3,4,56aPX=1

(D) 2

21
Standard error of correlation coefficient with r
andn=9is

0.5 3T n
E

0.s

r

‘)mmgmﬁmﬁ

(B)08
(C)0.5
(D)0.7>

If, for two mutually exclusive
exhaustive events A and B P[B|
oquals

i & R FuEst R s F9 & aaEeh
et A 3T B & f&T, P[B] = 2P(A], A P[A]

and collectively
2P[A], then P[A]

e gem?

(A) 2

(B) 3

(C) 1

(D) 1}

7. Let (X, X, X. ) be a random sample of size n
drawn from a population with p.d.f.
X VA <{a

j—.f —8<x<8,6>0

L(x)=1{20
| 0, otherwise

www.sscadda.com|www.careerpower.in

If the sample mean be X and the sample S.D. be S
then the method of moment estimator of § is
aw (X, X, X, lpdf.
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Month/ATE Complaints/fsraa
January / Y 36
February / S7aft 45
March / TS 81
April / 38w 9%
May / 7§ 108
June / S 144

If a 3-point moving average is used to smooth the
series, the 2™ calculated term is

72 Ao # e T & @{e 3 g aftena
ftea & @ B Srar B & gEd ofsfea
rafy &= gfr?

(B) 36

(C) 405

(D) 54

IS, Let I.;I. 123, 1.68, 1.45 and 1.58 be five random
observations from a population having p.d.f.
1 ;3
ﬂ-‘)'Ee . =X CX<®
-x<Bcx
then the maximum likelihood estimate of § is

T 1.21, 1,23, 1.68, 1.45 3 1.58 p.d.f.

1 -5

f(-")=3e -X < X< X
~rt<Bex
areh wAfe & ofo anfeos deor & & 0 &
FOHAH FHTAT HHS F4T 29
{A) 1.45
(B) 121
(D) 1.58

16. The geometric mean of Laspeyre's and Paasche’s
price indices is also known as

ARTT IR aNY & HET gaHE § Ao Ay
FIRFFAE
(A) Marshall-Edgeworth Index Number
AR TSaY gEEE
(B) Fisher's Price Index
R FT gaws
(C) Bowley's Price Index
A He T AR E

www.bankersadda.com
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(D) Kelly's Price Index
N Hew gaEw
17. Which one of the following is NOT a method of
measuring seasonal variation in time series?
Frafaf@a # & F2r 1 Aol & At ReoraY
Ao H A adi e
(A) Semi-average method
- twa R

(B) Method of simple average
W Mg fr fafe

(C) Ratio to moving average method
T 3 Irgara fate
(D) Ratio to trend method
Iqafer I fafey

18. Suppose that the equation for a trend line to predict
sales of new homes in a given arca. where the time
period is in years. is as follows:

A ) T 0921+ 4,1
Assuming that vear 1 is 1996, predict the sales for
2003. (Sales are in T1.00,000)

A= @f9v % AufE dawa F Gv qeEt #
A & ghaEe o & Re 3w o w
g FRf@a . i seem et At
y: =092t +4.1
3F at #1996 A 2003 F fy & qfigAm
FarsT (RFY T1,00,000 # ¥)

(B) 212,38,000

(C) 210.54,000

(D) T 9,62,000

19. Which of the following index number satisfies the
circular test?

iRl A 3§ ¥ @ gaes ohg gfewr &
O AT 7
(A) Both Laspeyre's and Paasche's
Grapodeucd gy

(B) Laspeyre's
Eeeriy

(C) Paasche's
qrer

(D) None of these

TR F FE A
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(B)

il

(C)

e

(D)

Al

26. In  ANOVA model,
statements is/are true”?

ANOVA #iza & TafRfaa # & &9 a1 &5
birad

L. Errors are random.
g anfeow £
1. Errors are homoscedastic.
Feat et €1
111, Error-variance cannot be estimated.

R sror ® T A€ v ST Fwar
(A) | only/Faa
(B) 1, 11 and/3fT 111
(C) 11 only &Fas
(0) 1 and/3tT 11

27. If A and B are two independent events, P(A) = 0.5,
P(AU B) = 0.6, then P(B) is
afZ A 3R B 2 FaaT gt € PA) = 0.5,
P(AU B) = 0.6, @t P(B) fxaar gnm?

(A)0.2
(C)0.3
(D) 0.5

28. Classical definition of probability suffers from the
problem of circularity because to apply this
definition, elementary events should be

widwar & qieeTe g & ofrareear &
FRET AT ¢ wn 5w o & @] & &
T gR@s gzard Y 24 ofge?

(A) collectively exhaustive

FAfRE w9 & wanh
(B) equally likely -+
AW TR T

(C) finite in number

e A A

which of the following
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D) mutually exclusive

QUEST M9t

29. What component of a time series is measured by
moving average method?
Fa Aoh & v o & s Mo RN 3
T ST &

(A) Seasonal variation
sta#Ar faaor
(B) Trend
ELCIn
(C) Cyclical fluctuation
TG ITaEaa
(D) Irregular variation

e Ao
30. Which of the following are truc?
Rt a@ e
1. Sampling error can be eliminated only if a survey
is extremely well designed and extremely well
conducted.

yferage IR @l g7 # o1 s & 5w ol A
Fdevor # gft aTE K- B e a
T e T R @

Il. Sampling error concerns natural  variation
between samples, is always present and can be
described using probability,

aRA & drg wpfas Rraver & gafta I e
W & A 3 wfear & v & afvta
ST T R

111, Sampling error is generally smaller when the
sample size is larger.

@ T A a9 @ar B, & sfaema ®
FHAWGAAT B g &

(A) | and3fT NI
(B) and/3fiT 1’
)y, 1 andratic

[iory and/30T 111 I

31. The mean wage of 1000 workers in a factory running
into two shifts 700 and 300 workers is T500. The
mean wage of 700 workers working in a day shift is
T450. Then the mean wage of workers working in
the night shift is
700 3T 300 FHERT $ Y oFt F A A
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et 3 1000 R A ATCT FHoEd 1500 & |
& @ orfy & @ w A 700 A # A
LECTURERTE uuﬁw&#mmmm
&1 ey A a gl

(B) 2567.67

(C) 543,67

(D) T570

32. To compare the average weight (in ke) of students of
two different classes, 25 stlideénts were selected from

AT
(B) Positively skewed
UHIHS s
(C) Negatively skewed
TUTEH® faws
(D) Asymptotic

¥EAfAg

35, A dice is thrown 3 times, The probability that the

sum of the numbers appearing on the top face i< 4, is
T O 3 AR STAT S §) WA 3T w2

cach class, the appropriste statistical test is A FEATH Fr AT 4 a‘mmmm
& FT-IET & ot ¥ wa T GAd :
(Re.am. ) # gaa 0 & v, gere e & 25 %1
OTH A 0, 3G TG adveror aw g 8.
“(A) Two-sample t-test with d.f, 50 (®) 41 ¥
2Y-THAT 1-GeToT d . 50 F Fwr 16/
(B) Two-sample t-test with d.f, 48 (<) 1 3
2 -G EvoT 4.1, 48 ¥ | =1
sl .
(C) Two-sample Z-test o -
Y- Z-qieror 1 : B2
(D) Paired t-test with d.f. 24 6
ZafRa gdaror d.f 24 F @y 36 If the mtributes A and B are indencndent. then
33. If the correlation coefficient r = = | for the random ‘2?“ Jﬂtﬁmﬂ. ar
variables X and Y, then the lines of regressions of Y L (AB) (A)(B)
onXand XonY N "TT

ot e a3t X Y & e wewey apore -
=2 LAXSY IRY 97 X i gavRUT M|
Shod
(A) are perpendicular to each other.
T g8 & Jaad g £
(B) coincide.
FHEarar gl &)
(C) intersect with acute angle 5 /4.
A T ¢ 4 & Ty wRAORT wrh £
(D) are parallel to each other.
T ZEY F BRI A £
34, If the mean of a distribution is 23, the median is 27 |
and the mode is 30, then the distribution is

afe Y dza @ Aveg 23 g Aftawr 27 ¢ 3ix
TS 308, 3 deer ST

(A) Symmetric

7

www.bankersadda.com
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IL(AB) (af ) = (AB ) (aB)
(A¥Only 1 is true. &2 | 58 B
m'wrmnmm.m;mapnﬁh

{C) Both 1 and i are true.
IR IR E

D) Only 11 is true. 4 11 R R

37. hatiwincdimibuinn.n,-_f 08K vy =y ~ 08,
then the partial correlation

cocfiicient r.., will be
[ f o & A T g—— “ 05 3 s
mwﬁ;vm

(A)0s

(B)0s

oes

3. Bowicy s Index &5 pwes by

Test Fomm No. 3010804
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arsar I+ frad Auifa 41
0 gare? If X is a Poisson variate such that P(X =0) =%,
(A) K}
%(mec)n:'s Index * Paasche’s Index) the Var(X) is equal to
3 1
1 _ , TRX st R & PN=0)=— ar
~ (T GIH1F ~ I FIFH) 3
= AR (X) fraar g
(B) \ (Laspeyresindex) » (Paasche’s Index) (A) =3
e
\ (FTPTT [qa®I® ) « (T FaH®) (B) 5,3
(€) |/ (Kelley s Index) «(Walsh's Index)
— . — (D) 1
\ (T FTERE) « (AT I 3
My ) : 42. A coin is tossed three times, then the probability of
E(\\alsh s Index>Kelley's Index) Fetting atleast oné head is
1 i i) oo T W A I soT AT 8 A $H @ W
3“”" e o & an AT s H e sRsa wad
39. If the two variables are uncorrelated, then the lines (A) 1
of regression become 3
I & T FEEEAR &, A FEATer e (mf
(A) skew ro
() 5
Paya 8
(B) parallel to mch.othcr (D} None of these
C) coincide . ’ :
. 43. The angle between the lines of regression of Y on X
FEATA -
; andXonYis — Then
(D) perpendicular to cach other « - 2
UF ZHL & Faaq X9TY 3R Y 9T X & wwvwgor fant & dra sor
40. Which of the following is a method of primary data X :a
collection? r i
m#:mmmmm: (A) X and ¥ are independent. X 3 Y et i
T A IR Y a5
(B) X and Y are correlated. X 3 Y wgHafaa &
(A) Journals
ofyzm (C) X and ¥ are uncorrelated. X 3R Y BEwafoa 78
(B) Brochure g
R (D) X and Y are perfectly correlated. X 3T Y o
(€) Questionnaire FrEaaa
44. In two-ways ANOVA with data recorded inm = n
(D) Internet table the degrees of freedom (d.1) for error is
ST m * n afaaT & Rafé fv e sfest & amr zfaar
ANOVA #, 32 & v waasar & #mr d.f) w=r

8 Test Form No. 3010804
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(C) Seasonal variation

staa Rrergor
(D) Secular trend

iR soafy

$8. If the logarithm of the given values shows more or
less a lincar path against the given time-periods,
then the trend equation can be taken to be

Tt fAuiia et & Sy @) e
FEETaE & BHES FARY w7 3 Zefar £
ar 3wty wefreor @ w=r AT o EEAT R

(A) exponential
TIUTTH

{B) cither linear or exponential
@ srwar ararardy
(C) None of these
¥R {0 T

(D) linear

aw

§9. A pattern of variation of a time series that repeats
every year is called

wiaad gergea @19 ared @ A & Rrawor 8t
| WY ¥ FEd 7
(Aj Cyclical
GBean
(B) Irregular
sfafia
(C) Seasonal
Hady
(D) Trend
3wAfa
60, For a s)'mm«ric distribution Q, = 20 and Q, * 40,
The median of the data is
FRATRF 727 F /U Q, = 20 3% Q, = 40, 3=zt
& snftaa gamw)
(A) 20
(B)40
R[]

61, Which component of the time series is isolated by
"Method of Ratio to Moving averages™

F AN & 57 vew # 1famw e R

—

|

Fe R T

(A) lrregular
FxatAa
(8) Seasonal
e
(C) Trend
IuAfta
(D) Cyclical
brang

62. If X and Y are indenendent random variables. then
the correlation coeflicient between X and Y is equal

o
WX YTITMRoFE WEANIRY &
mmmmmr
{A) -1
81
()

1
2

63 In an ANOVA problem involving 3 treatments and
- '0 observations per treatment, SSE = 399.6. The
MSE for this situation is
3 399R T ¥R 9T 39UR 10 Qevor and B
ANOVA FHET &, SSE ~ 399.6, 3t o5 foufy &7
MSE &7 gomm?
(A) 30.0
(C) 1532
(1332
64 In onc-way ANOVA, if the mean sum of squarcs
Mgmupsisfomdlokeiu--of
within groups, then
U ANOVA #. 7R 7ot & dw = e
IR EAR T A AT S E . A
{A) Noac of these are true.
TAAAREEhaf

~ groups with respect 1o its average effect.
IR R I IS =g Y
w3 Rmeah
10taenmﬁp'£_hzqhm
mcans

1

www.bankersadda.com
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wHE At F fra wrE R e g
(D) one should look for further source of variation,

farawor & 3R |9 # 2@ I AORe]

65. The following data relate to expenditure in a five
year plan of a country:

Expendifure in Expenditure
(in thousand T)
Agriculture 45.5
Industry and Mines 33.2
Irrigation and Power 1.5
Transport 15.7
Miscellancous 68

What should be a suitable diagram to represent the
above data?
frsfata et & gay & # qaadig Jrs=r

FgaAlk:
ffaf@a d = =T
(TR T
Tﬂ 45.5
Iz s 332
o 3 R 1.5
qftag= 15.7
v 6.8
sw stest W o & e S @ e
ST g
(A) Line Diagram
g I
(B) Histogram
Faa @T

i) Ratio Charnt

66. If a researcher wishing to draw a sample from
sequentially numbered invoices uses a random
starting point., then draws every S0th invoice. He has
thus drawn & sample which is

afe F st iR wear o dow A 3
AT AT AEA & A AF IRTeoE TS 4
T SR HT &, A ag g2 soaf Ao e
&1 30 T 36 FhE R & e R g

A) Stratified
A

www.sscadda.com|www.careerpower.in

(B) Simple Random
I ARfeow

(C) Systematic
FHaG

(D) Sequential

PR

67. If one of the regression co=fficients is greater than
unity, then the other must be

IR T FAPNGVT O U F IO &Y A gEa
&ar g
(A) equal to zero
YW F TR
{B) lesser than unity
UE d FH
() greater than unity
uF # ¥
(D) equal to unity
UF & aa]
68. Which of the following statements are true?
@ AIsm s s

I. Correlation coefficient is the arithmetic mean
between regression coefficients.

miugmmqunﬂttam
T

II. Regression cocfficients are independent of the
change of ongin but not of scale.

FRPFTOT OTE HF & oREdE § FET g f olg
#19 & A8

111, If one of the regression coefficient is > 1, then
the other must be less than unity.

Tfe T FAPGOT IO - | R A gE U (gfaen
A& HFm
(A) and 3R 11
(B) 11} and/ 307 |
(€T 1 and/ 30T 1N

(D)1, 11 and/3T 11°
69. In a Binomial distribution the difference of the mean

If the probability for success is

and vanance is %

% . then the number of trials is

12 Test Form No. 3010804
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29z @za & A 3R 9HT F AT %:.u&

B o T %a.avmﬁmm
.44

B)2
()16
(D) 12

70. The sum of the squares of deviations of a set of
values is minimum when taken about

AW & W g ¥ RBasa & at & e =
e R gAaH far &2
(A) Median
=g
(B) Mode
W
(C) Mean
Hey
(D) Standard Deviation
A s
71. In a multiplicative time series model, if period of
moving average coincides with the approximate

length of cycles of cyclical fluctuation, then, afier
detrending the model becomes approximately

TS Fre Ao Afsw A ARk afwe sfwa &
yafty o searans & aFt f wpiaa s
& FErh Bl & @ Il A e W AR
- /T A

(A) y, =T,58, 1,
(B) y, =S, I,
(€) y, =8, xC,

(D) y, =S, xC, 1,

72. Bowley's measure of skewness of a distribution
involves

A S Fasd Aan Az ARa
{A) Mean and Mode

zm:nnn(aa

(B) First quartile, third quartile and Median

www.bankersadda.com
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(C) First quartile and third quartile
magﬂtmqmmgtm

(D) Mean and Median
Hrem T ATt

73. Forany twoevents A and B
oMot F AT
(A) P(A) = (A7 B) » P(ANB)
(B) P(A) = P(AU B) ~ P(AUB®)
KC) PA) = PAT B) = PANBY) |
(D) P(A) = P(Au B) + P(AUB®)

74. For testing the equality of means of k normal
population with common but unknown variance, the
technique used 1s

T T ITATE TETOT AT k HIUROT FARE &
ATt § FAWAT FT 90T A F R w4y @
FHEAE JYATE ST B2
(A) F-test
F-g{reror
(B) t-test
- giregor
(C) Chi-square test
w9 gireyor
(D) Any one of these
=AAFE N
75 In a study of its sales, a motor company obtained the
following least squares trend equation:
y = 1600 + 200x :
(onigin 1950, x units = | year, y = total sumber of
umits sold annually)
What is the average annual inczease in the sumber of
umits sold ?
TF AT FE # yeh R & s 2
BRRe gaan o Wity =t v

¥ = 1600 + 200x :
FF1950. xR - | k. y - A TE TS
fFFFEm
nwmamam*gu
&

(A) 1600

(B) 1400

(C) 800

Test Form No. 3019804
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[Aa<m=a+s]
(BIM<A<A+S

(©)
A-M= §

(D)M-A=2§

83. An um contain 10 balls, of which M are white and
10 — M are black. To test that M = 5 against the
alternative hypothesis M = 6, one draws 3 balls from
the urn WOR. The null hypothesis is rejected if the
sample contain 2 or 3 white balls. Then the power of
the test is

TFHEHEIU A MR E S aM a3 10
MEfr i ag s T S RT M -5
THIAT REFeTA M = 6 & Aeda & 2 s
WOR & 3 7Rt Preraar &1 5 siwesen 35
AT FEFA B Sl e AR am A 2 @ 3
wz Mfaat gt & weor fr afFa a=r g
(A)

(B)

()

Sl g i) v

(D)

Vol ve

84. Cost of living index number (CPI) is inversely
related to

e, §EEE N e gewn (WaEs) w9 OR
FRATRY

(A) Neither purchasing power of money nor real wage

aa g & wu ofdw R F & ol

et

(B) purchasing power of money
3 w7 v
(€) Both purchasing power of money and real wage
e £ 57 1R IR AR Aol 2
(L) real wage
arEata® Al
85, Coefnicient of dispersion based upon quartile
deviation is
g Raea oF Jmurite afvaor & aoms
&

15

www.sscadda.com|www.careerpower.in

(A)

M Q-9

Q
® Q-Q;

86. Three urns of the same appearance have the
following composition of ballss
Um1t : Wnite + 2 Black
Um 11 :2 White = | Black
Um I : 2 White + 2 Black
One of the ums is selected and a ball is drawn from
the selected urn. It turn out to be white. Then the
probability it came from the urn 111 is

T IHA F AT vt A PmfRf@a e
FEATE:

FRU I : T + 2 FN
sww 1l 28%Z + 1 AT
Faw Ul : 2§56 + 2 F

TR T FAU AT S § R GA g Fw A 0w
s T Shar & | 3% 8% @ & & R
Faw 11 F 3w H wfdear #ar g

(A)

(B)

(<)

(D)

Wil L el W

87. Suppose in a ONE way ANOVA problem the
following information are given ;
Degrees of freedom for *Betwern Group™ = 3
Sum of squares for ‘Between Group = 30
Sum of squares for *Within Group' = 160
F-ratio (observed) = | =
W . THRUT ANOVA FREn & Saias
qEm A TEE:

&I FRvEaTE A AT -3
FE & & ¥ vt & e - 30

Test Form No. 3010804
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FHE & e & e aeit & et - 160
F-Jgaret (378a) = |

Then the total number of observations will be
2 Srvott & a5y i ey @1

(B)24

(€310

D) 19

88. A spedk the truth in 75% cases and B in 80% of the
cases. In what perGentage of cases are they likely to
contradict each other in the same fact? A and B
hehave independent

A 75% ATHEY A Feg @rar & 3R B 80% ATEEt A
Fg Awar B Fas wfava At A ¥R 8
& AU aF vw gt & Fummdh @89 & s
WAL A I B AT R A

(A)

(B)

()

| 21 Sl S|w

(D)

20
89. A set of data involving four “tropical feed stuffs”
tried on 20 chicks is given. All the twenty chicks are
treated alike in all respects excepts the fcedin§
treatments and cach feeding treatments is given 10
chicks. The data obtained is

20 gt oy gfewor fFar T o gwR f U e
& A ad Hfest & wean Rar
it i I F ITUR W o | oF Fa
T FAT WET ITAR B OIIHT M G2F Wy
399R S g e I e S FR

I l/\)none-wny classified Mmmml

shandard deviation is

@t & on = 10, Sx= 60, v = 1000, A FAAF
frass Fargem

(A) 36

(B) 64

(€)6

91. With the help of histogram we can drass
¥ BT AaH FEH A e £

(A) frequency curve IETAT a8

| frequency diswribution araran dea
(C) All of these

E
(D) frequency polygon TRARAT TQF

92, Both time reversal and factor reversal tests are not
satisfied by

FE SPAT T IS IoRAvT 21 aferor
Fraaf v s
(A) Laspeyre's formula only
¥aw AW AT

(B) Fisher's ideal formula RFR 3121 ST

(C) Pgsche’s formula only I T SIHET

(D) Both Laspeyre's and Paasche's formula #8347
o A e

93. For an exponential distribution with parameter § ¢ 3
ST 6~ 3 A& WA 7T & WU

{A) Mcan
e

(B) Mcan

9 Varniance
9 9HI0T
Variance
AHET - g85391
(C) Mean > Variance
YW - 98@©T

(B) None of these classification is possible. 3748 &
g o wefirror Exa AR &1

) two-way classified data ZfuT affee 3ies
(D) 4 three-way classified data fty aafiga s

(D) Mean < Variance
T < gE{OT
94. A cyclist pedals to his college at a speed of 10 mp.h.
and back from the college to his house at 1S m.p.h.
The average speed is
% FERE ar|® 10 3. ofy oo & nf F s

90. In a distribution, n = 10, F.r-60. Ll‘: 1000, then mm?m!<ﬁ mmﬁmam
16 Test Form No. 3010804
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F Fa w dtear & | e afa aase)
(A) 13.5 m.p.h.
13sAsae
(B) 125 mp.h,
125 A efa ver

(C) 13mph.
13 Prafa ger

() 12 mph
12 iy aer

www.bankersadda.com

95. The general cost of living index number is 600 in the
year 1988 :

Suppose a person gets a monthly salary of T450 in
1960 and 2.000 in 1988. State how much he ought
to have received as extra allowance in 1988 w0
maintain his 1960 standard of living.

A 1988 3 U HUHF H FART ST 600 ¥
AT AT va zafda & 1960 & 1450 307 1988 F
22,000 1 A8+ da= HAaar 1| FaET H9 1960
F T T TR @A F v 1988 F 37
Trae yfafe swear B afge o

(B) 22,700

wHe7s

(D) 2133

96. The standard deviation of the heights (in cm) of 200
male students is 18. If a random sample of 9 baoys is
taken with replacement, then the standard error of
the estimator of the poputation mean is

200 TYat Y FqE (cm F) F FAS FaIT 18 &)
& 9 T3 & TTF-ACH I ATC0F AFA @A
FTar & @ wAf A ¥ ywas B e 1T
& gem?

(A)2

(€)1

(D) 4

97. Short-term, unanticipated and non-recurring factors
in a time secrics provide the random variability
known as

FTe ATt & yeqeie, ywcarg it smEdt
IS | ARTe0H TRaaaNEar oo arar 8, 380
FTFHEA &

17
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(A) the residuals
yafirz

(8) the irregular component
yfafaa oew

(C) uncertainty

FafFaaar

(D) the forecast error

b S

98. Consider the following distributions:

Distribution A Distribution B
Mean 100 %
Median 90 K0
Standard
Deviation 10 10

If we calculate a measure of skewness based on the
given data, then we see that

Afafaa a2 o far fifse:
qTTA FTAB

e 100 20

FftasT 90 80

s frewa 10 10

T g v ar Htwst & 3TUR oF & & AT &
MEFFAHFAE AT EH
{A) distribution A is less skewed than Distribution B.

FTA AT BAFHH A9A L)

(B)both distributions have the same degree of
skewness.
2 FzAt §F Syrg & w5 HEAR B

99. If a continuous

(C) both distributions are symmetric.
2 aza FEAA &
(D) distribution A is more skewed than Distribution B.
A A T B F yE R )
random variable X has the
peobability density function fix ) = 4r’, 0 <x < I
then the value of bsuch that (X > b) = 05 =
T2 Faa anfeos ot X # oiea oo o=
i)=& 0<x< LA ADFTITFMARFAX
>b)= 05§

(A)

(1.05)°

.

(B) 1
(99)+
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